SN R~TE

ANEEEL: 215~040

E) REATFXRSHE(LES),

':I_: % [l Q Q
e |
T - - S -(— %
I Q Q ] Z
N L w [k
B H*'i\ 2-P(ReEEA)
HP T Y 4-FL H{Z0B T
4-UxE LS, oEl) ILFLIRC
o
L L l_
| N Py (18
o Bl/e S © e 4
prr b = - - o
: g =S a [ ~ ~ x s b
! \4}' %(.'J o C. ] gE
L ecocoooos © 0\
EQI )
N 2 2x4-MM
HS e w K BEURM FESH
CR HR G Q+17%8 G
Z+{772
(mm)
A= A| B|] cC|cB|CR|D F | G |GP|GW | H |HA [HB | HC | HP | HR | HS | HT JxE K
MY3R15 | 105| 8 42 | 2 | 05 [166 | 8 5 33 [315 |32 | 30 [17 |31 [17 | 30 | 85 |17 M5x0.8x7 14
MY3R20| 9 [ 95 [52 | 3 [1 [216] 9 6 39 [375 ] 39 | 36 |21 38 |24 | 36 | 7.5 |24 M6x1x8 11
MY3R25 | 85| 95 |52 | 3 |1 [264 | 85| 6 44 |425| 44 | 41 |235| 43 [235| 41 | 65 |235 M6x1x8 15
MY3R32 [105|11 | 65 | 3 | 1.5 |336 |105 | 7 55 |535| 55 | 52 |29 | 54 |29 [ 51 [ 7 |29 M8x1.25x10 | 13
MY3R40 (10 |11 |65 | 5 [2 [416][13 |7 65 |635 |67 | 62 |36 |66 |36 | 62 | 8 [36 M8x1.25x10 | 15
RS L [LD| ™ MM N [pw|] @ [aw]|[ T [Tc|[w [wrp[ws][ X Y p2
MY3R15| 53| 43| 5 M4x0.7 | 6 | 32 84 | 18 | 19 17 | 25 |16 7 | 18 | 545| 94
MY3R20 | 62 | 54 | 5 M4x0.7 | 7 | 38 95 | 17 | 205 |20 | 40 |19 7 | 22 | 64 107
MY3R25 | 70 | 54 | 6 M5x0.8 | 65| 43 | 105 | 20 | 215 [225| 40 |[215| 7 | 28 | 72 117
MY3R32 | 76 | 7 7 M6x1 85| 54 | 116 | 26 | 24 |28 | 50 |27 7 |3 | 79 130
MY3R40 | 90 | 7 8 M6x1 11 | 64 | 134 | 34 | 26 [33 | 60 |32 7 | 40 | 93 148
S P(EEE®A)
MY3R15| M5x0.8
MY3R20| Rci/8
MY3R25 Rc1/8
MY3R32| Rc1/8
MY3R40| Rcl/4




SV R~THE

EhEER. 015~040
m & \
o% % ic) © ) /
T = = x
T IR TN
H b g [ 7=z
w K
4-JxE H 2-P(EEEEO)
CB.i. 1A . v eAEEeB T
22 2-P P L3 ET) TACH
14 ﬁ (REBEA) o
UL UL ol
‘ SVANECE: f\ﬁ:{::}:::/‘ @ | ¢ =
i e 2 s (ﬁ“ ol3|g & - % I Tl z[=
v e & Ol 369 1 -2
S T 3 @ e @ D)
‘ i e
125 B ok
BLEY 0 2x4-MM .
MY3RG15M358 Cﬁ.i%R N E w K BECEM AXSH
2-Pk ot G Q+7752 G
(EE®Ea) Z+38
MY3RG10K17E
(mm)
e B | C|CB|CR|D|F |G |GP|GW| H |[HA| HB | HC | HP | HR| HS | HT JxE K[ L
MY3RG15| 8 | 42 | 2 | 05 |166 |8 |5 33 |315| 32 | 30 |17 | 31 | — | 30 | 85| — | M5x0.8x7 | 14 | 53
MY3RG20 | 95|52 | 3 |1 |216 |9 |6 39 |375| 39 | 36 |21 | 38 |11 | 36 | 7.5 | 28 M6x1x8 11 | 62
MY3RG25 95| 5.2 3 1 26.4 | 85 | 6 44 | 425 | 44 41 235 | 43 | 145| 41 6.5 | 33.5 M6x1x8 15 70
MY3RG32 |11 | 65| 3 | 1.5 |33.6 [105 | 7 55 |535| 55 | 52 |29 | 54 |20 | 51 | 7 | 41 | M8x1.25x10 | 13 | 76
MY3RG40 | 11 | 65| 5 | 2 |416 [13 |7 65 |635| 67 | 62 |36 | 66 |25 | 62 | 8 |50 | M8x1.25x10 | 15 | 90
e LD | M MM N[PW[Q [aWw][ T [Tc|[ W [WP[wWsS ] X Y Z
MY3RG15 | 4.3 5 M4x0.7 6 32 84 18 | 19 17 25 | 16 7 18 54.5 94
MY3RG20 | 54 | 5 | M4x0.7 | 7 | 38 | 95| 17 | 205|20 | 40 | 19 7 | 22 | 64 107
MY3RG25| 54 | 6 | M5x0.8 | 65| 43 | 105 | 20 | 215|225| 40 |215| 7 | 28 | 72 117
MY3RG32 | 7 7 M6x1 8.5 | 54 116 26 |24 28 50 |27 7 35 79 130
MY3RG40 | 7 8 | M6x1 |11 | 64 | 134 | 34 |26 |33 | 60 |32 7 | 40 | o3 148
RS P(ECE®A)
MY3RG15| M5x0.8
MY3RG20| Rci/8
MY3RG25| Rci/8
MY3RG32| Rci/8
MY3RG40| Rcl/4




	封面
	目录
	01_FAXS.pdf
	02_FAXQ.pdf
	03_FMCG.pdf
	04_FAXH.pdf
	05_FAHZ2.pdf
	06_FAHF2.pdf
	07_FAHY2.pdf
	08_FAHL2.pdf
	09_FAGJ.pdf
	10_FAGPM.pdf
	11_FMJP2.pdf
	12_FMUJ.pdf
	13_FMU.pdf
	14_FBX2.pdf
	15_FMXSM.pdf
	16_FMXSJM.pdf
	17_FASQB.pdf
	18_FMRJF.pdf
	19_FMY3.pdf
	20_FSW.pdf
	21_FMPX.pdf
	封底



